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question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

The co-ordinates of the origin are

(D) () (B) (A) QUESTIONS Q-1
P
3 3 £0Q (0 # Ot AWPITS | !
ot 20
Y- 2 s
( ¢ | Rational | Rational e b, u)’uux A Q(x) »P(x)
Mixed Surd | Surd : .
! expression number An algebric expression of the form Q ( ) ,Q(x) #0,P(x)
and Q(x) are polynomial is called a ..
1 A7 conkVa = fus| 2
2 1 3 Zero i N
Vva = az isasurd of order
(r—y)x* ~xy +y?)) (x—y)? + 2y +¥%) x+9 (P -y +y%) (x —y)(xz +y2) Factorization Of X3 - y3 -Cl-—uf."ﬂfxa - y3 .3
F Gorr G Gt P N I WY, 4
Constant Cubic Quadratic Linear A polynoxmal of degree 2’ is called... Polynomial
3 5 i g .Z'..:LA" 7e LL-/()L"‘(J’,JWUJ )
The number of methods to fing L C.Mare
< > < S 1, (S n #3m-2= nf .6
Ifm-2=n,thenm ... n,
< SHx|=3 7
+3 -3 3 0 . . ¢
Solution of | X [=3 is
" ~:—r”?/)(@‘)[/&’uﬁf’>ug 8
3 2 1 Zero ¥ . .. ¥ . -
A linear equation in one variable is of degree
N M Slie SA L 9
AdjA=-A Ada=A | A'=—-A | A'=A L s, e - -
A matrix A is said to be symmetric matrix if
¢ = (AB)'&uss | .10
At Bt Bt At B A ’ . ( ) &U :
In matrices (AB)" =?
. ’ e Ui g 11
180°,180° 90°,90° |-60°,60° | 45°,45° i
Complementary angles are
360° 270° 180° 90° A straight angle contains. R 12
" : . : AL et L 13
The number of altitudes in a triangle are
' e tn I ihid 14
1,2 2 2 e brs o
T 2mr
21" r i Area of a Semi-Circle is
-(,[IL;‘:‘&IJIL i 15
(0,0) (0,1) (1,0 0 ’
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" Part. I

Answer briefly any Six parts from the-fotlowings.
I P()=3y% +749 then find P (0)
Solve by Formula (q + 2p)3
Define Rational Number with example

8x* -~ Z¢f W)

27

| Factorize 3a(x + y) — 7b(x + y)

Factorize

Find H. C. F by Factorization 6pqr, 15grs

Find L. C. M by Factorization x%yz, xy?z, xyz?

Define L.C.M

Answer briefly any Six parts from the followings.
|2x — 3| = 5 = 0.:25 G
Define the linear equation.

Solve by factorization 2x% + 15x — 8 = 0

Solve:-

Define the quadratic equation and write down its formula;

If x = 3 is the solution of
x2 + kx + 15 = Q then find the value of k.

Define the equal Matrix and give one example.

1&4:[; _?4],B=[§ ‘87]and c:[é

Thenfind4 — C + B =?

5
2

-8 —4
-4 -2
Answer briefly any Six parts from the followings.

Find determinant of a Matrix. 4 = [

In the given figure Find the values of X’ and ‘Z’

$60-4/.22.

Ub";u;d// e ¢ Lz
Jo! v
LMz P Lige $ e Lttt 24y
e HOInp (=32 4240 S @)
G+ 20 E S enlir Gi)
EsengE oy e Fe Gid
Factorize x* —x ~ 156 (% (i)

6x2=12

3a(x +y) = 7h(x + Y)ELUF (i)

6pqr, 15qrs’c,‘§rk’(£'bbdf.",g4 (vi)
x2yz, xy*z, xyz2 & e F1roomgd wn (i)

Zw 8P s ()

6x2=12 -u_‘//j a@lﬁj‘d; J:lZlie._J:( c.tjd_’ibu ..3/:'; dlr
3x+1)=69-3x _zZESf  ®
sy Sl G
2x2 4+ 15x — 8 = 0Z S UF v (v
-:Zf:r/_,furzl?ﬁjl/)l:%{J}Jablxcﬂuu W
g e Sk In F6X% +kx + 15 = Oeilox = 3.5 (vi)

Solve:-

oL s G (il
R ey MO T

ZEeA—C+B =27
A= [:z :g] U ()
6x2=12 S felr g §fedtditn 4740y

q/r#’..:,szmxu:fJ.sz,l; ®

<

Find the value of Xin the given triangle b
x4
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Write down the angles marked with letters

Define Minor Segment and Major Segment

Draw an ¢quilaterat riangle ABC in which mAB = mBC = mAC = 5cm

Find the volume of the cube whose edge is 4cm.

Find the area of right triangle with legs 12 cm and 35 cm

Find the distance between the following pair ofpoinis
(&, 810 ,~a)
Part e eeeeeeeer 1
Note: Attempt any Three Questions.
5.(b) Factorize 8x3 — 6x — 9y + 27y 2547 ()5

'd
6a)  Findhe squar root of the following
F(e=2) —a(e+)
8T\\t L’/ 4\\.+t,(t:¢e0)
-2 1 -5
® Solve 2= -+
4 3 6
7(a)  Solve by Completing the square Method x*+6x=3
® ol ] [2] =[33] Find the value of a'and b’
3 alt7 10
8(a)  Draw an cquilateral triangle ABC in which
mAB = mBC = mAC = 5cm Draw its altitudes.
(b)  Use Cramers rule to solve the simultaneous
equations x —3y =5 2x—5y =9
9(a)  The area of a rectangular rice field is 2.5 hectors and its sides
are inratio 3:2. Find the Perimeter of the field.
(b)  Show that the points A(4 — 2), B(—2,4)and C(5,5)are

vertices of an isosceles triangle.

1038 - 1022 -

8x3=24

SGP-G/ .23

u"/r}”uff“@gm;ﬂwc,f.),/

S5 P So sl st 0 o5

b f g al A

g,,_’}'l/35/}lfIZCLW:}LJVI/rPJ/waﬁi}'! =%
Arca=-—=~-= JWL{%ﬂzg(wJﬂq/@/uzédu
L T DYy RV

(a,-b), (b, —a)ylp» b nlwd s

2

r»_.._,.._

= mBC = maC = Sem " ZZABC 5010

Gii)

wq_’fj_,f.al..lzéamrufc_é:f:_‘,)

x%42x
x24+x-2

04 _’éf__{ryb"(‘j/f/lg{ii@u
1 1
8+ (t—-;)z —4<t+?),(t¢ 0)
xX=2 1, x5
04 oy = P + p c_f':dp
04 2 =3y e 3 pLE S

gortgvaanll PP =[]

ST LABC e L)

5.(a) Simplify

3x =
tim &7

gCGL!LLﬂ mAB = mBC = mAC = % §5

04 S pe 3 LA
x—-3y=5 2x-5y=9

04 SUELG g K5 3K L gk

L P bl e P32

04 MB(=2,4),A(4, — 2)s6 S =t

LAV LIC (5, 5)
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) ©) (B) A QUESTIONS Q1
eorfE(x—1)2 =4 1
{=1.3} 1.4} 4.1} {t.,2} € )
Solution of (x — 1)2 = 4 is:
Jw Jh y Je :‘at‘U[_ﬁ;hfcuff/Lo/’bzh 2
Tangent Radius Diameter Arc A chord that passes through the centre of a circle is called:
L pi L4, B, Lrrv ‘meﬂugié.w/:éw/,:ugzﬁ»;’ 3
In-centre Orthocentre | Centroid Cireum~centre | The point at which the medians of a triangle meet is called:
1 . P P ' -
okl X Qs | 5 X osE X LB 1r? dxdug Area oftriangle = =~ ———~————- = Jhel] 4
base X altitude %x base x altitude length x breadth "
- 2 2 24 p2 5
4ab a‘+b 4ab 2(a* + b%) (a4 b)? — (a=b)? =7
@-deev@sn | @+D@-1 | @-D@+D) | @+D@+D | Fadterizationofa® — 1 is: e (5/; Ja* -1 .6
,1";,1, wfribanss jl.}wb} rjibu r"l;l;leh,;w;i ~~~~~~~~~~ =*’}J}bgukd/é’” 7
HEGEEC LCM H.CF HGCEXLEM | product of twd expressions=s —-=-——-==
{0} (-3} {3} {(+3} Solution of{ X="3 is: elrflx|=3] 8
_ s X2 +2x+1=01| 9
1} {—1} {0} {-1,1} i ¢
xesk 2x + 1 = 0 has a solution:
AB™? B A1 B4 Pinmarices (AB) ™1 =?  (AB) ™1 =74 Luxi | .10
180° 360° 270° 90° :st\raight angle contains. -‘ab'%.?/J{ r:j:'/ 2| 11
th{é‘.’ twa lbes ol A line joining one vertex ‘LHL/‘M“ /,:éh el | 12
Side bisector Altitude Median Anglebisector | ofa triangle and perpendicular to its opposite side is called
2 2 2 - ¢ P
mr ' 2mr T T :‘LC'!I.;J(M r Lfb/(u’?o/lﬁ 13
Area of circle with radius '’ Is:
o5 s &, ¢ :tnufuf(.&‘ﬁ:ﬁr/,:;f .14
Circle Line Quadrant Aplane Point on the axis donot lie in any:
8x3y? Zeiy?, 4x%y? Zxy® H.CFof2x3y3, 4x2y* is: w23y 4xyt | 15

10391022 -25000 (3)
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Answer briefly any Six parts from the followings. ~ 6x2=12 /¢ f M2 Linge 8 Ltitn 2/ )y

Define Similar Surd. Give an example.

3 3
P(y)=y*+ % — y? + 1, then find P(—2)
Rationalize the Denominator. 5+: -

Define “Linear polynomial”. Give an example.

Factorize 27 — 1000y3 é.’_:df (vi)

|

Find H.C.F 4abc?, 8a’bc, 6ab’c &4 1yt (viid)

What is the relationship between H.C.F and L.C. M if

A and B are two algebraic expressions.
Answer briefly any Six parts from the followings.

Define Linear Equation, give example
2/ Gii)

iIf x = 3 isthe solution of x% + kx + 15 =0, find k

Ix—3|=4

Solve

540 -43 .23

e Z S e @

EFPDI PO =y + L -y 11 G

—;273 S Gi)

-Q:d@/}‘éiﬂ}({&/ﬁduu{‘ Giv)

Factorize =X — 2 + x2 ’__éfdf W
|

Find L.C. M. 3a*b2c3, 5a2b3c5 g o F1 sz o

(}Zdjgu&/ucf_jl;,J‘{:}f;)’,ul(yfgb.?uné‘id/émBu’Aﬁ; (ix)i

6x2=12

LI f B g $ e tditn 3 /’Jv ;

u::d@:ﬂéd}&abl/f : @
Soe  3(2x+5)=25+x &S G
k 3P + kex + 15 = Oeibox = 35| G

e
Find the valuesof X, x2 —5x+ 6 = 0 x2 —5x+6/= O-f_ér)'”u,“fJxl ) |
0 -2 3 0 -2 3 ,

Prove that A = [ 2 0 4] is skew ~ symmetric A= 2 0 4]9‘,!5\414 1o IS ) :

-3 —4 0 -3 -4 0 F

Find the Inverse of [__21 (3)] 4 r J:‘;‘Q/Z (viii) Find A% if A:B _31] LAt | (vid)
b + 357 [35 b + 357 [35] . | e

If[3 oy 7a]=[ ] 0], then find the values ofa and b | A a] --[1 0]-2'55 (= boia | (x) |
Answerbricfly any Six parts fromthe followings. | 6x2=12 L/ F bz P Limga §f et dits 47 )y

Define parallelogram with Figure

Write down the angles marked with letters, i , j, k

1040 - 1022 - 25000 (P.T.0)
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Define Vertical Angles with figure

Draw an equilateral triangle with length of each side is 4 cm

Define transverse common tangent

The side of an eq;fii\]\ateral tﬁanglé is 6 cm. Find its Area
Ifa cube of a side 4c;1, Find volume

Locate (—8, 10)in the co-ordinate plane

Define collinear points with example
Part — I
Note: Attempt any Three Questions.

5(2)  Findthevalueof ab + bc +,ca
When the values of g% + b? +c¥*=81 anda+b+c=11
(b) Factorize 64x7 ~ xa®
6(a) Find the H.C.F by Division Method
X3 4x2—5x+3,x3=7x+6, x> +2x* —2x +3
x-2 x-5_1
XL _lsa
(b) Solve e 23
7(a) Solve using quadratic formula:
(x+3)(x—-1)—-12=0
121,02 =115 ,
{b) IFA-[3 _4],B-[5 8 ]and C-[O 2] Then show that
12 -10
a+B-C=[g 7, ]
8(a) IfA:[g i] thenverify AA™t =1
where I is the identity matrix
(b) Construct a triangle ABC with
mBC = 5.4cm ,meB = 657and msC = 55
Find centroid of the triangle
9(a) Show that the point
A(0,2),B(3,—2)and C(0, —2)are vertices of a
right triangle.
(b)  Find the Area of an equilateral triangle whose side is 8m.

8x3=24

et g v e sisy
w2 A S e e el ol
& fluvSFus
TS PP A DA
AT (; ot 2 G 4TS AL
&L 64856 1(—8,10)
AN A PTG

&

o

£ ::‘ef;(}"aéu(ab + bc + ca
a?+b2+c?=8lsa+b+c=11
64x7 — xa® & §7
yetucEE e 3 )L

x3+x2—5x+3,x3—7x+6,x3+2x2 -2x+3

x-2 x-5 1

el e
:éd’c_.u,w(;{g(f.u:)
(x+3)(x-1)-12=0

S - IO v A O £
yc-[o 2] sl B—[S 8]‘1\-[3 - ]ﬁ
_[2 10} .
A+B—-C—[8 2 [E=
e 4 B Vio 1=17 a 2] i
331 £/ J#EA A ‘“”Az[s 41/'
e
B DI04

meC = 55 s mesB = 65 «mBC = 5.4cm
é{:b”ﬁ//(w/:n
000,-2) #B(3,-2) A(0, 2) 56 S5 =t
Bl ki i 26 L
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